Дано                                                       Решение
ХW ген- норм. красн.
Р ♀ Х W Y * ♂X w X w   
Хw ген- мутация  белый
G   X W   Y          X w
Р ♀крас. цвет            

♂ белый цвет
F1 X W Xw  ;  Х wY   

Р генотип- ?
Р ♀ Х wY   * ♂ X W X w  
F1-?
G   X w   Y          X w  X W
F2-?
F2  X W X w  ;  Х w Y   ;  X w X w;  X W Y
Ответ: Р ♀ Х W Y ( гаметы X W ; Y) 

              ♂ X w X w   (гаметы  X w)
F1( по генотипу) 1 XWXw  1 Х wY   
( по фенотипу)  1 самец красный
1 самка белая

Р ♀ Х wY   ( гаметы X w ; Y) 

              ♂ X W X w  (гаметы  X w и X W )
F2( по генотипу) 1 XWXw  1 Х wY   1 X w X w  1  X W Y
( по фенотипу)  1 самец красный

1 самка белая

1 самец белый
1 самка крас.

